Miniature Fittings Series M

Bulkhead Reducer: M-5ER Manifold: M-5M

For the plate thinkness 3.

5 to 6 mm, give the plate

tapping M12 x 0.75, and then screw-in.

9-M5x 0.8

M12 x 0.75 7 RclY 14 M12 x 0.75
Hcya\ = L |-._’ .
GED '-LH; o
ENZN 0 7T
Width across ~ - %@)@ d i _
flats 14 i N\ > 2— 055
Width across flats 14 Width across |
7 Mounting plate thickness flats 17 ] 1 I J}
14 |3.5max. 6. | 20
e - |
29 15 ] 32
1

Panel mounting plate thickness max. 3.5 mm
For the plate thinkness 3.5 to 6 mm, give the plate
tapping M12 x 0.75, and then screw-in.

Weight: 12 g Weight: 59 g
Bushing: M-5B Plug: M-5P —
DO
M5 x 0.8 }g\lt%tq g cross r ] o X\al‘lgtr; across MS
E ﬁ » q o M5 x 0.8 —
) TO
Weight: 5.8 g weight: 139 |VMG
Gasket: M-5G1 Gasket: M-5GH
\ 05 o 2
Weight: 0.01 g Weight: 0.04 g
/A\Precautions

- mm o Em Em Em Em Em EN Em Em Em MR R M RN AN EE Em R R Am Em Em gy

|Refer to pages 15-18-3 to 15- 18-4 in the front matter for Safety Instructions and Common Precautions on the |
1products mentioned in this catalog, and refer to pages 15-1-10 to 15-1-11 for Precautions on every series. 1

e oo o oo o o mm e mm mw mm mm e mm e mm Em Em Em Em EE E EE EE EE EE EE R EE EE EE MmN EE M EE EE Em EE Em Em mm Em mm e mm mm e el

/A Caution

1. Tighten by hand, and give it an
additional 1/4 rotation with wrench. (The
additional rotation should be doubled to
1/2 when using the universal elbow,
universal tee, etc. which have two
gaskets.) If tightened excessively, thread
portion may be damaged and gasket
may be deformed. This will cause air
leakage. On the contrary, if tightened
insufficiently, thread may loosen causing
air leakage.

ACautlon

. Cut the tube perpendicularly to the tube
axis to a little longer than required
length. (Use tube cutter “TK-1", “TK-2" or
“TK-3".)

2. Pass the tube through the cap nut.

3. Push the tube until it comes to the end
of the barb portion, or it may cause air
leakage or hose releasing.

4. Tighten the cap nut firmly by hand on
the fitting.

O
:

ACautlon

. Cut the tube perpendicularly to the tube
axis to a little longer than required
length. (Use tube cutter “TK-1", “TK-2" or
“TK-3".)

2. Push the tube until it comes to the end
of the barb portion, or it may cause air
leakage or release hose.

15-2-59




